## Mathematica Slovaca

# Jarosław Morchało <br> Asymptotic equivalence of difference equations 

Mathematica Slovaca, Vol. 48 (1998), No. 1, 57--68
Persistent URL: http://dml.cz/dmlcz/130864

## Terms of use:

© Mathematical Institute of the Slovak Academy of Sciences, 1998

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.
This paper has been digitized, optimized for electronic delivery and stamped
with digital signature within the project DML-CZ: The Czech Digital Mathematics
Library http://project.dml.cz

# ASYMPTOTIC EQUIVALENCE OF DIFFERENCE EQUATIONS 

Jaros£aw Morchalo<br>(Communicated by Milan Medved')


#### Abstract

The purpose of this paper is the study of a generalized asymptotic equivalence between the solutions of the difference equations $$
\begin{equation*} y(n+1)=A(n) y(n) \tag{I} \end{equation*}
$$ and $$
\begin{equation*} x(n+1)=A(n) x(n)+F(n, x(n), T x(n)) . \tag{II} \end{equation*}
$$

By means of the contraction mapping principle, we prove the existence of a homeomorphism $H$ between the sets of bounded solutions of (I) and (II).


## Introduction

The purpose of this paper is the study of a generalized asymptotic equivalence between the solutions of the difference equations

$$
\begin{equation*}
y(n+1)=A(n) y(n) \tag{I}
\end{equation*}
$$

and

$$
\begin{equation*}
x(n+1)=A(n) x(n)+F(n, x(n), T x(n)) \tag{II}
\end{equation*}
$$

By means of the contraction mapping principle, we prove the existence of a homeomorphism $H$ between the sets of bounded solutions of (I) and (II). Moreover, we are going to investigate the ( $g, p$ ) asymptotic equivalence between equations (I) and (II) such that to each bounded solution

$$
x(n)=H y(n) \quad \text { of }(\mathrm{II})
$$

we have

$$
\left|g^{-1}(n)[y(n)-H y(n)]\right| \in l_{p}
$$

[^0]The relationship between the asymptotic behavior of a homogeneous differential equation and a nonhomogeneous perturbation of that differential equation has been widely investigated. The objective of this paper is to develop part of these problems for some classes of difference equations.

Our results extend some theorems obtained by Talpalaru [6], which proved an asymptotic relationship between the solutions of (I) and (II) using Schauder's fixed point theorem.

## Notations and definitions

Denote by $\mathbb{N}_{n_{0}}^{+}=\left\{n_{0}, n_{0}+1, \ldots\right\}$, where $n_{0}$ is a natural number or zero, $\mathbb{R}^{k}$ - the $k$-dimensional real euclidean space with the norm $|x|=\sum_{i=1}^{k}\left|x_{i}\right|$, $x=\left(x_{1}, \ldots, x_{k}\right), M^{k}$ - the space of $k \times k$ matrices $A=\left(a_{i j}\right)$ with the norm $|A|=\max _{j} \sum_{i=1}^{k}\left|a_{i j}\right|, I$ - the identity matrix. We denote by $Q=Q\left(\mathbb{N}_{n_{0}}^{+}, \mathbb{R}^{k}\right)$ the space of all functions from $\mathbb{N}_{n_{0}}^{+}$into $\mathbb{R}^{k}, B=B\left(\mathbb{N}_{n_{0}}^{+}, \mathbb{R}^{k}\right)$ - the Banach space in $Q$ for all bounded functions from $\mathbb{N}_{n_{0}}^{+}$to $\mathbb{R}^{k}$ with the norm

$$
|x|_{B}=|x(n)|_{B}=\sup \left\{|x(n)|: n \in \mathbb{N}_{n_{0}}^{+}\right\}
$$

We will be interested in establishing an asymptotic relationship between the solutions of systems (I) and (II), where $x, y$ are $k$-dimensional vectors, $A: \mathbb{N}_{n_{0}}^{+} \rightarrow M^{k}$ an invertible matrix function for $n \in \mathbb{N}_{n_{0}}^{+}, F: \mathbb{N}_{n_{0}}^{+} \times D \times D \rightarrow \mathbb{R}^{k}$ ( $D$ - a region in $\mathbb{R}^{k}$ ) is for any $n \in \mathbb{N}_{n_{0}}^{+}$continuous with respect to the last two arguments, and $T$ is a continuous operator from $Q\left(\mathbb{N}_{n_{0}}^{+}, D\right)$ into $Q\left(\mathbb{N}_{n_{0}}^{+}, D\right)$.

Let $Y(n)$ be a fundamental matrix of (I). The matrix $Y(n)=A(n-1) A(n-2)$ $\ldots A\left(n_{0}\right)$ is the fundamental matrix of (I) such that $Y\left(n_{0}\right)=I$.

We can impose various meanings on the operator $T$.
Let $g(n)$ be a nonsingular $k \times k$ matrix that $g^{-1}(n)$ exists for all $n \in \mathbb{N}_{n_{0}}^{+}$.
DEFINITION 1. We will say that a function $z$ is g-bounded on $\mathbb{N}_{n_{0}}^{+}$if $\sup \left\{\left|g^{-1}(n) z(n)\right|<\infty, \quad n \in \mathbb{N}_{n_{0}}^{+}\right\}$.
DEFINITION 2. We shall say that two systems (I) and (II) are ( $g, p$ ) ( $p \geq 1$ ) asymptotically equivalent on $\mathbb{N}_{n_{0}}^{+}$if for each solution $y$ of (I) there exists a solution $x$ of (II) such that

$$
\begin{equation*}
\left|g^{-1}(n)[x(n)-y(n)]\right| \in l_{p} \tag{III}
\end{equation*}
$$

and conversely.

## ASYMPTOTIC EQUIVALENCE OF DIFFERENCE EQUATIONS

Let $B_{g}$ be the space of all functions $x: \mathbb{N}_{n_{0}}^{+} \rightarrow \mathbb{R}^{k}$ such that

$$
|x|_{g}=\sup _{n \in \mathrm{~N}_{n_{0}}^{+}}\left|g^{-1}(n) x(n)\right|<+\infty
$$

The following theorems will be used in our subsequent discussion:
Theorem 1. ([1], [2]) Let $C$ be the Banach space of bounded functions $x$ : $J \rightarrow Y$ (where $Y$ is a finite dimensional linear space) with the norm $\|x\|=$ $\sup \left\{|x(t)|: t \in J=\left\langle t_{0}, \infty\right)\right\}$. Let $G: C \rightarrow C$ be a contraction, and $V_{1}, V_{2}$ non-empty subsets of $C$ such that $(I-G) V_{2} \in V_{1}$, where $I$ is the identity operator. If $H: V_{1} \rightarrow V_{2}$ satisfies relation $H y(t)=y(t)+G H y(t), t \in J$, $y \in V_{1}$, then $H$ is a homeomorphism of $V_{1}$ into $V_{2}$.

Theorem 2. ([5]) Suppose that $Z$ is a mapping from a complete metric space $\langle X, d\rangle$ into itself and

$$
d(Z(x), Z(y)) \leq q_{0}(a, b) d(x, y)
$$

for each $(x, y) \in X$ such that $a \leq d(x, y) \leq b$, where $q_{0}(a, b)<1$ for $b \geq a>0$. Then there exists a unique $u \in \bar{X}$ such that $u=Z(u)$.

## A preliminary result

The following lemma will be used in the sequel.
LEMMA 1. Let the following conditions be satisfied:
$1^{\circ} g(n)$ is a $k \times k$ matrix such that $g^{-1}(n)$ exists for all $n \in \mathbb{N}_{n_{0}}^{+}$,
$2^{\circ} \varphi(n)$ is a positive function for $n \in \mathbb{N}_{n_{0}}^{+}$,
$3^{\circ} Y(n)$ is a non-singular matrix for all $n \in \mathbb{N}_{n_{0}}^{+}$,
$4^{\circ} P$ is a projection $\left(P^{2}=P\right)$,
$5^{\circ}\left(\sum_{s=n_{0}}^{n}\left|g^{-1}(n) Y(n) P Y^{-1}(s) \varphi(s)\right|^{q}\right)^{\frac{1}{q}} \leq K<\infty, n \in \mathbb{N}_{n_{0}}^{+}, q \geq 1$, $K=$ const .

$$
6^{\circ} \sum_{n=n_{0}}^{\infty} \exp \left(-K^{-q} \sum_{s=n_{0}}^{n}\left|\varphi^{-1}(s) g(s)\right|^{-q}\right)<\infty, \varphi^{-1}(s)=\frac{1}{\varphi(s)}, p+q=p q
$$

Then

$$
\begin{align*}
\lim _{n \rightarrow \infty} & \left|g^{-1}(n) Y(n) P\right|=0  \tag{1}\\
& \left|g^{-1}(n) Y(n) P\right| \tag{2}
\end{align*}
$$

Proof. We follow first the proof due to T. G. Hallam [3] for a differential equation:

Let

$$
h(n)=(\varphi(n))^{q}|Y(n) P|^{-q} .
$$

Then from the identity

$$
\begin{aligned}
Y(n) P \sum_{s=n_{0}}^{n} h(s) & =\sum_{s=n_{0}}^{n} Y(n) P h(s) \\
& =\sum_{s=n_{0}}^{n}\left|\varphi^{-1}(s) Y(s) P\right|^{-q} Y(n) P Y^{-1}(s) \varphi(s) \varphi^{-1}(s) Y(s) P
\end{aligned}
$$

it follows by using Hölder's inequality that

$$
\begin{aligned}
& \left|g^{-1}(n) Y(n) P\right| \sum_{s=n_{0}}^{n} h(s) \\
\leq & \sum_{s=n_{0}}^{n}\left|\varphi^{-1}(s) Y(s) P\right|^{-q}\left|g^{-1}(n) Y(n) P Y^{-1}(s) \varphi(s)\right|\left|\varphi^{-1}(s) Y(s) P\right| \\
\leq & \left(\sum_{s=n_{0}}^{n}\left|g^{-1}(n) Y(n) P Y^{-1}(s) \varphi(s)\right|^{q}\right)^{\frac{1}{q}}\left(\sum_{s=n_{0}}^{n}\left|\varphi^{-1}(s) Y(s) P\right|^{(1-q) p}\right)^{\frac{1}{p}} \\
= & \left(\sum_{s=n_{0}}^{n}\left|g^{-1}(n) Y(n) P Y^{-1}(s) \varphi(s)\right|^{q}\right)^{\frac{1}{q}}\left(\sum_{s=n_{0}}^{n}\left|\varphi^{-1}(s) Y(s) P\right|^{-q}\right)^{\frac{1}{p}} .
\end{aligned}
$$

Hence

$$
\left|g^{-1}(n) Y(n) P\right| \leq\left(\sum_{s=n_{0}}^{n} h(s)\right)^{-\frac{1}{q}}\left(\sum_{s=n_{0}}^{n}\left|g^{-1}(s) Y(n) P Y^{-1}(s) \varphi(s)\right|^{q}\right)^{\frac{1}{q}},
$$

and, by $5^{\circ}$, we have

$$
\begin{equation*}
\left|g^{-1}(n) Y(n) P\right| \leq K\left(\sum_{s=n_{0}}^{n} h(s)\right)^{-\frac{1}{q}} \tag{3}
\end{equation*}
$$

Use the notation

$$
\mu(n)=\sum_{s=n_{0}}^{n} h(s),
$$

then

$$
\begin{equation*}
\left|g^{-1}(n) Y(n) P\right| \leq K(\mu(n))^{-\frac{1}{q}} . \tag{4}
\end{equation*}
$$

Since

$$
\begin{aligned}
\left|\varphi^{-1}(s) Y(s) P h(s)\right| & \leq\left|\varphi^{-1}(s) Y(s) P \| \varphi^{-1}(s) Y(s) P\right|^{-q} \\
& =\left|\varphi^{-1}(s) Y(s) P\right|^{1-q}
\end{aligned}
$$

we have

$$
\left|\varphi^{-1}(s) Y(s) P h(s)\right|^{p} \leq\left|\varphi^{-1}(s) Y(s) P\right|^{-q}=h(s) .
$$

From the above and $5^{\circ}$, it follows that

$$
\begin{align*}
& \left|\varphi^{-1}(n) Y(n) P\right|\left(\sum_{s=n_{0}}^{n} h(s)\right)^{\frac{1}{q}}=\left(\sum_{s=n_{0}}^{n}\left|\varphi^{-1}(n) Y(n) P\right|^{-q} h(s)\right)^{\frac{1}{q}} \\
\leq & \left|\varphi^{-1}(n) g(n)\right|\left(\sum_{s=n_{0}}^{n}\left|g^{-1}(n) Y(n) P Y^{-1}(s) \varphi(s)\right|^{q}\right)^{\frac{1}{q}}  \tag{5}\\
\leq & K\left|\varphi^{-1}(n) g(n)\right| .
\end{align*}
$$

Hence

$$
K^{-q}\left|\varphi^{-1}(n) g(n)\right|^{-q} \leq h(n)\left(\sum_{s=n_{0}}^{n} h(s)\right)^{-1}
$$

Since $h(n)=\mu(n)-\mu(n-1)$, it follows that

$$
\mu(n)-\mu(n-1)=\left(\varphi^{-1}(n)|Y(n) P|\right)^{-q} \geq K^{-q}\left(\sum_{s=n_{0}}^{n} h(s)\right)\left|\varphi^{-1}(n) g(n)\right|^{-q}
$$

and so

$$
\begin{equation*}
\mu(n)\left[1-K^{-q}\left|\varphi^{-n}(n) g(n)\right|^{-q}\right] \geq \mu(n-1) \quad \text { for } \quad n \in \mathbb{N}_{n_{0}}^{+} \tag{6}
\end{equation*}
$$

Using the well-known inequality $1-u \leq \exp (-u)$, we obtain from (6)

$$
\begin{equation*}
\mu(n) \geq \mu\left(n_{0}\right) \exp \left[K^{-q} \sum_{s=n_{0}}^{n}\left|\varphi^{-1}(s) g(s)\right|^{-q}\right] \tag{7}
\end{equation*}
$$

Note that $6^{\circ}$ implies that

$$
\sum_{s=n_{0}}^{\infty}\left|\varphi^{-1}(s) g(s)\right|^{-q}=\infty
$$

Thus $\lim \mu(n)=\infty$ as $n \rightarrow \infty$, and then (3) yields (1) and

$$
\sum_{n=n_{0}}^{N}\left|g^{-1}(n) Y(n) P\right|^{p} \leq K^{p} \sum_{n=n_{0}}^{N}(\mu(n))^{-\frac{p}{q}}
$$

By (7), we have

$$
\begin{aligned}
& \sum_{n=n_{0}}^{N}\left|g^{-1}(n) Y(n) P\right|^{p} \\
\leq & K^{p}\left(\mu\left(n_{0}\right)\right)^{1-p} \sum_{n=n_{0}}^{N} \exp \left[k^{-q}(1-p) \sum_{s=n_{0}+1}^{n}\left|\varphi^{-1}(s) g(s)\right|^{-q}\right]
\end{aligned}
$$

which, by (6), gives (2).
LEMMA 2. Let $h(n) \geq 0$ for $n \in \mathbb{N}_{n_{0}}^{+}$, and let $\sum_{k=n_{0}}^{\infty} k h(k)<\infty$. Then $\sum_{k=n}^{\infty} h(k) \in l_{p}, n \in \mathbb{N}_{n_{0}}^{+}, p>1$.

Proof.
(*) If $\sum_{k=n_{0}}^{\infty} k h(k)<\infty$, then $\sum_{k=n_{0}}^{\infty} h(k)<\infty$.
Moreover,

$$
\begin{equation*}
\sum_{n=n_{0}}^{\infty}\left(\sum_{k=n}^{\infty} h(k)\right)=\sum_{k=n_{0}}^{\infty}\left(\sum_{n=n_{0}}^{\infty} h(k)\right)=\sum_{k=n_{0}}^{\infty}\left(k+1-n_{0}\right) h(k)<\infty \tag{8}
\end{equation*}
$$

From (*), we have that $\lim _{n \rightarrow \infty} \frac{\left(\sum_{k=n}^{\infty} h(k)\right)^{p}}{\sum_{k=n}^{\infty} h(k)}=0$, and hence, by (8), the proof of the lemma follows from the comparison principle.

## Asymptotic equivalence

We now prove our main results.
Theorem 3. If:
$1^{\circ} r: \mathbb{R}_{+} \times \mathbb{R}_{+} \rightarrow \mathbb{R}_{+}$is a non-decreasing function with respect to each variable separately and such that

$$
\sup \left\{\frac{r(u, v)}{\max (u, v)}, \quad a \leq u, \quad v \leq b, \quad 0<a \leq b\right\}<1
$$

$2^{\circ}$ there exist supplementary projections $P_{i}(i=1,2)$ and a constant $K>0$ such that

$$
\begin{aligned}
& \left(\sum_{s=n_{0}}^{n-1}\left|g^{-1}(n) Y(n) P_{1} Y^{-1}(s+1)\right|^{q}\right)^{\frac{1}{q}} \\
+ & \left(\sum_{s=n}^{\infty}\left|g^{-1}(n) Y(n) P_{2} Y^{-1}(s+1)\right|^{q}\right)^{\frac{1}{q}} \leq K<\infty \quad \text { for } \quad n \in \mathbb{N}_{n_{0}}^{+}
\end{aligned}
$$

$3^{\circ}$ there exist a nonnegative function $h$ defined on $\mathbb{N}_{n_{0}}^{+}$and positive constants $\alpha, K_{1}$ such that

$$
\begin{aligned}
& |F(n, u(n), T u(n))-F(n, v(n), T v(n))| \\
& \quad \leq h(n) r\left(\left|g^{-1}(n)[u(n)-v(n)]\right|,|T u(n)-T v(n)|\right) \\
& |T(u)-T(v)| \leq \alpha\left|g^{-1}(n)[u(n)-v(n)]\right|
\end{aligned}
$$

$$
0<\alpha \leq 1,|u|,|v|<\infty, h \in l_{p}, K\left(\sum_{n=n_{0}}^{\infty} h^{p}(n)\right)^{\frac{1}{p}} \leq K_{1} \leq 1
$$

$$
p>1, p+q=p q
$$

$4^{\circ} F(n, 0,0) \in l_{p}, p>1$,
then there exists a homeomorphism $H$ from the set of $g$-bounded solutions of (I) into the $g$-bounded solutions of (II).

Proof. Let $y=y(n)$ be a $g$-bounded solution of (I) on $\mathbb{N}_{n_{0}}^{+}$. Then there exists a constant $a>0$ such that $y \in B_{g, a}$, where

$$
B_{g, a}=\left\{z \in Q: \sup \left(\left|g^{-1}(n) z(n)\right|\right) \leq a, n \in \mathbb{N}_{n_{0}}^{+}\right\} .
$$

Define the operator $R$ for $x \in B_{g, 2 a}$ by

$$
\begin{align*}
R x(n)=y(n) & +\sum_{s=n_{0}}^{n-1} Y(n) P_{1} Y^{-1}(s+1) F(s, x(s), T x(s)) \\
& -\sum_{s=n}^{\infty} Y(n) P_{2} Y^{-1}(s+1) F(s, x(s), T x(s)) \quad \text { for } \quad n \in \mathbb{N}_{n_{0}}^{+} . \tag{9}
\end{align*}
$$

## JAROSŁAW MORCHAŁO

Write $d_{i}(n, s)=g^{-1}(n) Y(n) P_{i} Y^{-1}(s+1), i=1,2$, then

$$
\begin{aligned}
& \left|g^{-1}(n) R x(n)\right| \\
\leq a & +\sum_{s=n_{0}}^{n-1}\left|d_{1}(n, s) F(s, x(s), T x(s))\right|+\sum_{s=n}^{\infty}\left|d_{2}(n, s) F(s, x(s), T x(s))\right| \\
\leq a & +\sum_{s=n_{0}}^{n-1}\left|d_{1}(n, s)\right|\left(h(s) r\left(\left|g^{-1}(s) x(s)\right|,\left|g^{-1}(s) x(s)\right|\right)\right) \\
& +\sum_{s=n}^{\infty}\left|d_{2}(n, s)\right|\left(h(s) r\left(\left|g^{-1}(s) x(s)\right|,\left|g^{-1}(s) x(s)\right|\right)\right) \\
& +\sum_{s=n_{0}}^{n-1}\left|d_{1}(n, s)\right||F(s, 0,0)|+\sum_{s=n}^{\infty}\left|d_{2}(n, s)\right||F(s, 0,0)| \\
\leq a & +r(2 a, 2 a)\left\{\sum_{s=n_{0}}^{n-1}\left|d_{1}(n, s)\right| h(s)+\sum_{s=n}^{\infty}\left|d_{2}(n, s)\right| h(s)\right\} \\
& +\sum_{s=n_{0}}^{n-1}\left|d_{1}(n, s)\right||F(s, 0,0)|+\sum_{s=n}^{\infty}\left|d_{2}(n, s)\right||F(s, 0,0)| \\
\leq a & +r(2 a, 2 a)\left\{\left(\sum_{s=n_{0}}^{n-1}\left|d_{1}(n, s)\right|^{q}\right)^{\frac{1}{q}}\left(\sum_{s=n_{0}}^{n-1} h^{p}(s)\right)^{\frac{1}{p}}\right. \\
& +\left(\sum_{s=n}^{\infty}\left|d_{2}(n, s)\right|^{q}\right)^{\frac{1}{q}}\left(\sum_{s=n}^{\infty} h^{p}(s)\right)^{\frac{1}{p}} \\
& +\left(\sum_{s=n_{0}}^{n-1}\left|d_{1}(n, s)\right|^{q}\right)^{\frac{1}{q}}\left(\sum_{s=n_{0}}^{n-1}|F(s, 0,0)|^{p}\right)^{\frac{1}{p}} \\
& \left.+\left(\sum_{s=n}^{\infty}\left|d_{2}(n, s)\right|^{q}\right)^{\frac{1}{q}}\left(\sum_{s=n}^{\infty}|F(s, 0,0)|^{p}\right)^{\frac{1}{p}}\right\}
\end{aligned}
$$

If we choose $n_{0}$ such that

$$
r(2 a, 2 a) K\left(\sum_{n=n_{0}}^{\infty} h^{p}(s)\right)^{\frac{1}{p}} \leq \frac{a}{2}
$$

and

$$
K\left(\sum_{n=n_{0}}^{\infty}|F(s, 0,0)|^{p}\right)^{\frac{1}{p}} \leq \frac{a}{2}
$$

we have that $R$ maps $B_{g, 2 a}$ into itself. Now, using Theorem 2, we are going to demonstrate that the operator $R$ has a unique fixed point in $B_{g, 2 a}$.

For $x_{1}, x_{2} \in B_{g, 2 a}$, we have

$$
\begin{aligned}
& \left|g^{-1}(n)\left[R x_{1}(n)-R x_{2}(n)\right]\right| \\
\leq & \sum_{s=n_{0}}^{n-1}\left|d_{1}(n, s)\right|\left|F\left(s, x_{1}(s), T x_{1}(s)\right)-F\left(s, x_{2}(s), T x_{2}(s)\right)\right| \\
& \quad+\sum_{s=n}^{\infty}\left|d_{2}(n, s)\right|\left|F\left(s, x_{1}(s), T x_{1}(s)\right)-F\left(s, x_{2}(s), T x_{2}(s)\right)\right| \\
\leq & K\left(\sum_{n=n_{0}}^{\infty} h^{p}(n)\right)^{\frac{1}{p}} r\left(\left|x_{1}-x_{2}\right|_{g},\left|x_{1}-x_{2}\right|_{g}\right) .
\end{aligned}
$$

Hence

$$
\left|R x_{1}-R x_{2}\right|_{g} \leq r\left(\left|x_{1}-x_{2}\right|_{g},\left|x_{1}-x_{2}\right|_{g}\right)
$$

Thus we can apply Theorem 2, which yields the existence of a unique $x \in$ $B_{g, 2 a}$ such that $x=R x$. An easy computation shows that the fixed point $x(n)=R x(n), n \in \mathbb{N}_{n_{0}}^{+}$is a solution of (II). Let $B_{g, I}$ and $B_{g, I I}$ denote the species of $g$-bounded solutions of (I) and (II), respectively. We define the mapping $H: B_{g, I} \rightarrow B_{g, I I}$ as follows: for every $y \in B_{g, I}, H y$ is the fixed point of the contraction $R$. This means $H y(n)=R H y(n)$. We prove that $H$ is homeomorphism. For this purpose, let $y_{1}, y_{2} \in B_{g, I}$ be such that $H y_{1}=H y_{2}$. Then we obtain $y_{1}=y_{2}$. Moreover, $H$ is continuous.

Next we define the inverse mapping of $H, H^{-1}: B_{g, I I} \rightarrow B_{g, I}$, by

$$
H^{-1} x(n)=x(n)-R_{1} x(n)
$$

where

$$
\begin{aligned}
& R_{1} x(n)=\sum_{s=n_{0}}^{n-1} Y(n) P_{1} Y^{-1}(s+1) F(s, x(s), T x(s)) \\
& -\sum_{s=n}^{\infty} Y(n) P_{2} Y^{-1}(s+1) F(s, x(s), T x(s)) .
\end{aligned}
$$

$H^{-1}$ is one to one, continuous mapping.

Theorem 4. If:
$1^{\circ}$ the assumptions of Theorem 3 hold,

$$
\begin{aligned}
& 2^{\circ} \quad \sum_{n=n_{0}}^{\infty}\left|P_{1} Y^{-1}(n+1)\right| h(n)<+\infty, \sum_{n=n_{0}}^{\infty}\left|P_{1} Y^{-1}(n+1)\right||F(n, 0,0)|<+\infty, \\
& 3^{\circ} \sum_{n=n_{0}}^{\infty} n h(n)<\infty, \sum_{n=n_{0}}^{\infty} n|F(n, 0,0)|<\infty,
\end{aligned}
$$

then $\left|g^{-1}(n)[H y(n)-y(n)]\right| \in l_{p}$.
Proof. From (8) and the assumptions of the theorem, we have

$$
\begin{align*}
& \quad\left|g^{-1}(n)[H y(n)-y(n)]\right| \\
& \leq \sum_{s=n_{0}}^{n-1}\left|g^{-1}(n) Y(n) P_{1} Y^{-1}(s+1)\right||F(s, H y(s), T H y(s))| \\
& \quad+\sum_{s=n}^{\infty}\left|g^{-1}(n) Y(n) P_{2} Y^{-1}(s+1)\right||F(s, H y(s), T H y(s))| \\
& \leq\left|g^{-1}(n) Y(n) P_{1}\right|\left\{r(2 a, 2 a) \sum_{s=n_{0}}^{n-1}\left|P_{1} Y^{-1}(s+1)\right| h(s)\right.  \tag{10}\\
& \left.\quad+\sum_{s=n_{0}}^{n-1}\left|P_{1} Y^{-1}(s+1)\right||F(s, 0,0)|\right\} \\
& \quad+r(2 a, 2 a) \sum_{s=n}^{\infty}\left|g^{-1}(n) Y(n) P_{2} Y^{-1}(s+1)\right| h(s) \\
& \quad+\sum_{s=n}^{\infty}\left|g^{-1}(n) Y(n) P_{2} Y^{-1}(s+1)\right||F(s, 0,0)| .
\end{align*}
$$

Hence

$$
\begin{aligned}
\left|g^{-1}(n) Y(n) P_{1}\right|\{r(2 a, 2 a) & \sum_{s=n_{0}}^{n-1}\left|P_{1} Y^{-1}(s+1)\right| h(s) \\
& \left.+\sum_{s=n_{0}}^{n-1}\left|P_{1} Y^{-1}(s+1)\right||F(s, 0,0)|\right\} \\
\leq\left|g^{-1}(n) Y(n) P_{1}\right|\{r(2 a, 2 a) & \sum_{s=n_{0}}^{\infty}\left|P_{1} Y^{-1}(s+1)\right| h(s) \\
& \left.+\sum_{s=n_{0}}^{\infty}\left|P_{1} Y^{-1}(s+1)\right||F(s, 0,0)|\right\}
\end{aligned}
$$

Since (from Lemma 1) $\left|g^{-1}(n) Y(n) P_{1}\right| \in l_{p}$, it is evident that this first term in the inequality (10) belongs to $l_{p}$. Taking in to account the second term of the above inequality, we obtain

$$
\begin{aligned}
& r(2 a, 2 a) \sum_{s=n}^{\infty}\left|g^{-1}(n) Y(n) P_{2} Y^{-1}(s+1)\right| h(s) \\
& +\sum_{s=n}^{\infty}\left|g^{-1}(n) Y(n) P_{2} Y^{-1}(s+1)\right||F(s, 0,0)| \\
& \leq r(2 a, 2 a)\left(\sum_{s=n}^{\infty}\left|g^{-1}(n) Y(n) P_{2} Y^{-1}(s+1)\right|^{q}\right)^{\frac{1}{q}}\left(\sum_{s=n}^{\infty} h^{p}(s)\right)^{\frac{1}{p}} \\
& +\left(\sum_{s=n}^{\infty}\left|g^{-1}(n) Y(n) P_{2} Y^{-1}(s+1)\right|^{q}\right)^{\frac{1}{q}}\left(\sum_{s=n}^{\infty}|F(s, 0,0)|^{p}\right)^{\frac{1}{p}} \\
& \leq K r(2 a, 2 a)\left(\sum_{s=n}^{\infty} h^{p}(s)\right)^{\frac{1}{p}}+K\left(\sum_{s=n}^{\infty}|F(s, 0,0)|^{p}\right)^{\frac{1}{p}} .
\end{aligned}
$$

Also from $3^{\circ}$, this second term belongs to $l_{p}$.
The proof of the theorem is complete.

## Theorem 5. If:

$1^{\circ}$ the assumptions of Theorem 3 hold,

$$
2^{\circ} \quad \sum_{n=n_{0}}^{\infty} \exp \left(-K^{-q} \sum_{s=n_{0}}^{n}|g(s)|^{-q}\right)<\infty
$$

then

$$
\begin{equation*}
\lim _{n \rightarrow \infty}\left|g^{-1}(n)[H y(n)-y(n)]\right|=0 \tag{11}
\end{equation*}
$$

Proof. To verify that (11) holds, observe that

$$
\left|g^{-1}(n)[H y(n)-y(n)]\right| \leq A+B
$$

where

$$
\begin{aligned}
& A=\sum_{n=n_{0}}^{n-1}\left|Y(n) P_{1} Y^{-1}(s+1) F(s, H y(s), T H y(s))\right| \\
& B=\sum_{s=n}^{\infty}\left|Y(n) P_{2} Y^{-1}(s+1) F(s, H y(s), T H y(s))\right|
\end{aligned}
$$

Using the assumptions of Theorem 3 and Hölder's inequality we get

$$
\begin{equation*}
B \leq K r(2 a, 2 a)\left(\sum_{s=n}^{\infty} h^{p}(s)\right)^{\frac{1}{p}}+K\left(\sum_{s=n}^{\infty}\left|F(s, 0,0)^{p}\right|\right)^{\frac{1}{p}}<\frac{\varepsilon}{2} \tag{12}
\end{equation*}
$$

## JAROStAW MORCHAŁO

for $n \in \mathbb{N}_{n_{1}}^{+}$, where $n_{1} \in \mathbb{N}_{n_{0}}^{+}$is sufficiently large.
Moreover, for $n_{2} \in \mathbb{N}_{n_{1}}^{+}$, from Lemma 1 and $1^{\circ}$, we have

$$
\begin{align*}
A= & \sum_{s=n_{0}}^{n_{2}-1}\left|g^{-1}(n) Y(n) P_{2} Y^{-1}(s+1) F(s, H y(s), T H y(s))\right| \\
& +\sum_{s=n_{2}}^{n-1}\left|g^{-1}(n) Y(n) P_{1} Y^{-1}(s+1) F(s, H y(s), T H y(s))\right| \\
\leq & \left|g^{-1}(n) Y(n) P_{1}\right| \sum_{s=n_{0}}^{n_{2}-1}\left|P_{1} Y^{-1}(s+1) F(s, H y(s), T H y(s))\right|  \tag{13}\\
& +r(2 a, 2 a) K\left(\sum_{s=n_{2}}^{n-1} h^{p}(s)\right)^{\frac{1}{p}}+K\left(\sum_{s=n_{2}}^{n-1}|F(s, 0,0)|^{p}\right)^{\frac{1}{p}}<\frac{\varepsilon}{2}
\end{align*}
$$

for $n \in \mathbb{N}_{n_{2}}^{+}$and $n_{2}$ sufficiently large. From (12) and (13) we obtain (11).

## REFERENCES

[1] BOUDOURIDES, M.-GEORGIOU, D. : Asymptotic equivalence of differential equations with Stepanoff-bounded functional perturbation, Czechoslovak Math. J. 32(107) (1982), 633-639.
[2] GEORGIOU, D.: Generalized Asymptotic Equivalence of Functionally Perturbed Differentaial Equation. Ph. D. Dissertation, Democritus University of Thrace, Xanthi (Greece), 1981. (Greek)
[3] HALLAM, T. G.: On asymptotic equivalence of the bounded solutions of two systems of differential equations, Michigan Math. J. 16 (1969), 353-363.
[4] HAŠČÁK, A.-ŠVEC, M.: Integral equivalence of two systems of differential equations, Czechoslovak Math. J. 32(107) (1972), 423-436.
[5] KRANSOSIELSKI, M. A.-WOJNIKKO, G. M. et all : Approximate Solutions of Operator Equations, Nauka, Moskva, 1969. (Russian)
[6] TALPALARU, P.: Asymptotic behavior of perturbed difference equations, Atti Accad. Naz. Lincei Cl. Sci. Fis. Mat. Natur. Ser. VIII LXIV (1979), 563-571.

Received April 22, 1994
Revised February 28, 1995

Institute of Mathematics
Technical University of Poznań
Piotrowo 3a
PL-60-965 Poznań
POLAND
E-mail: jmorchal@math.put.poznan.pl


[^0]:    AMS Subject Classification (1991): Primary 39A10; Secondary 34E10.
    Key words: difference equation, asymptotic equivalence, bounded function, $k$-dimensional real euclidean space, matrix, matrix function.

